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1. FEEHERE BT KREHH
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6. FEMIE 67,345,300 M (FisAH) 61,223,000 M (Fiik=)
7. BAALAERLEMSE 61,060,120 A (FidAH) 55,509,200 F (Fitk=)
8. KIgFIBTEHE 52,909,680 M (Fith=)
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LB 2585 R | EERLIAA| AHEH S -

1,000,000
EETARBETE ) 100.00 10.00 110.00 | 60,980,000 1.80387
(%k) ARBIEIE 100.00 14.00 11400 | 60,930,000 1.87100
(B)AKIHEE 100.00 11.50 111.50 60,980,000 1.82847
THEEZ () 100.00 13.50 11350 | 61,000,000 1.86066
THEREEE (B) 100.00 14.00 114.00 | 57,000,000 2.00000 ZH
(%) = HE 100.00 11.75 111.75 60,820,000 1.83739
(%) W =HR 100.00 12.75 112.75 61,000,000 1.84836
BB R 100.00 12.00 112.00 60,870,000 1.83999
(%) ¥ < EF 100.00 13.25 113.25 60,678,000 1.86641
WARESE (BF) 100.00 9.00 109.00 [ 61,000,000 1.78689
SRR ER (BR) 100.00 11.50 11150 [ 60,800,000 1.83388
RERTEMD 100.00 10.00 110.00 [ 55,715,000 1.97433
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AFLEA ZER & % 8 lemresmrons| & = g IE SET
EETRBETE G 100.00 1.00 0.50 8.50 10.00
(%) ARBIEIE 100.00 4.00 1.00 9.00 14.00
(F)AKIFHEE 100.00 2.00 1.00 8.50 11.50
FREEEZE () 100.00 3.00 1.00 9.50 13.50
PR (BR) 100.00 3.00 1.00 10.00 14.00
(%) = HE 100.00 2.00 1.00 8.75 11.75
(%) lW=HE 100.00 4.00 0.50 8.25 12.75
BB R 100.00 3.00 1.00 8.00 12.00
(%) v < EF 100.00 4.00 1.00 8.25 13.25
WAREE (#F) 100.00 2.00 0.00 7.00 9.00
JNERERER (BR) 100.00 4.00 1.00 6.50 11.50
REERTEMD 100.00 3.00 1.00 6.00 10.00




